3 (Sem-3/CBCS) ECO HC 2

2023

ECONOMICS

( Honours Core )

Paper : ECO-HC-3026

( Intermediate Macroeconomics—I )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
weTo fraearee oSt Sy fra

(a) Define aggregate supply.
S @ISR gl fd |

(b) Write the relation between inflation and
unemployment.

TAFFIS S fFReEE e ToR/EC! == |
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(3)

(i) convertible paper currencies
sfRada SIS Ul
(iii) None of the above

GO GOI8 T

(Choose the correct option)

(wm Rescor At Sferean)

What is stagflation?

refeste I Jferce & o2

Write one monetary measure to control
inflation.

Wi frgs IR I@ @O @fes S
fora |

What is rate of exchange?

Rivw =9 feree & @2

Mention one assumption of Mundell-
Fleming model.

e~ @R 1R b1 SISl Seas 1 |
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2. Answer the following questions : 2x5=10
OO PR Ted fil

(a) Distinguish between market demand
and aggregate demand.

I S W NS SRR e o4
fora

(b) Define forward exchange rate.

16 [Ty 279 gl fa |

(c) Mention the components of aggregate
expenditure.

SRS IR SAMEPTR SEy 91 |
(d) What is natural rate of unemployment?
o @ =9 ferest 6 g 2

(e) Mention two factors causing variation in
exchange rate.

R zve wfEFe s 91 70 IR Sy

01
3. Answer any four questions from the
following : 5x4=20
e PP I (I BifReE Ted i

(a) Explain the factors responsible for
inverse character of wage-unemploy-
ment relation.

oo TgR-foe@l ™R sRaw @
WA (R SRR A1 40 |
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(b) Briefly explain the interaction of
aggregate demand and aggregate

supply.
B 1 RIS B S o 1 1 o A
AR fepm-aifeferaedt st 3¢ 1 |

(c) Write a note on foreign trade multiplier.

@t MR QI YRR 8o b

COreT et |

(d) Discuss the adaptive expectation
hypothesis.
SASINES SO SFTHFCH! SCATGH 41 |

() How does aggregate supply -curve
determine in Keynesian economics?

TP SdAfoe ANET @ @ e
e a1 =9 2

(/) Explain briefly the Dornbusch’s over-
shooting model.

TP WORpR WA R v e

*q1I
4. Answer any four questions from the
following : 10x4=40
o PRI R et Bifere Te fa

(a) What is aggregate demand? Explain the
components of aggregate demand.

AET oiRm 57 TR vRME Semerz
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(g) Explain the determination of
equilibrium rate of exchange.

oo R 2w v fdfa s =, 3
0

(h) Define inflation. Distinguish between
demand-pull and cost-push inflation.

Terifes sike fran | viiReive q@refe wie
T JEFFIST e 1L (T |
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